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9R1B |l BEHEEE IR 9.78 0.07 0.04 B270 9A1H B270 0.06
9IR1B | BEEHM BRLARIK MK 10.13 0.06 0.05 B270
9R1B IO (FR) IEWCA IR 10.11 0.06 0.03 B270
9/1B|NIAT(ER) EMEIELCA e 10.22 0.06 0.04 B270
9R 18 |Hm(ED) WEEN R (E 1L e FR) R 9.89 0.09 0.06 B270
9R 18 |HMm(ED) WEEN R (E L e RR) R 9.84 0.06 0.06 B270
9/ 18 |2KIEm BAIK BER 9.96 0.07 0.03 B270
9/ 18 |2KIEm BRIK BEIK 10.01 0.08 0.03 B270
9A28 | BEHM BRI IR 10.13 0.07 0.04 B260 9A2R B260 0.06
9A28 |y BME RBER BEIR 9.25 0.06 0.03 B260
9R28 |4 AT Bk & IR 10.28 0.08 0.03 B260
9R5R |l BEARE IR 9.85 0.06 0.03 B270 9A5H B270 0.05
9A58 | BEHEEE IR 9.85 0.05 0.03 B270
9A58 | BEHEEE IR 9.55 0.06 0.03 B270
9A58 |#HyaHE BARIK BEIK 8.01 0.06 0.03 B270
9A5H [Hm(ED) BEANIR (E1E R R) IR 9.90 0.07 0.04 B270
9R5H |E#EE IR R 11.84 0.07 0.04 B270
9RA68 | L zFE T (KIE) Bk IR MK 12.00 0.05 0.02 7260 9A6H 2260 0.04
9R6H |SL iz FE /M (KI) B & R 11.73 0.05 0.02 7260
9A6H|ERA™ SEIR MK 8.27 0.09 0.02 7260
9A6H |E#HE IR R 11.77 0.08 0.04 7260
9A6RH |o<KIEm BAIK BER 10.04 0.07 0.02 7260
9R 68 |o<KIEmH BARIK BEIK 10.01 0.07 0.02 7260
9R78 (M BEAIRE MK 10.02 0.05 0.03 B280 9A7H B280 0.05
9/78|mIH BEHERE IR 9.95 0.04 0.03 B280
9R78 |#yaMEE BER BEIR 8.53 0.05 0.02 B280
9R78 |# oS BARIK BEIK 9.74 0.05 0.03 B280
9A7H |HMm(ED) BEANIR (E 1L R R) IR 9.95 0.10 0.05 B280
9R78 |Hm(EI) WEEN R (E L e RR) R 9.99 0.07 0.05 B280
9R 78 |RIBTH(FE=RE) RBER BEIKR 8.26 0.08 0.02 B280
9A8H |BEEEHM BRI IR 10.18 0.06 0.04 B270 9A8H B270 0.05
9RA8A | IO (FIR) IELCA IR 10.23 0.07 0.02 B270
9A8H [HM(EI) BEANR (BB FRIR) R 10.02 0.07 0.05 B270
9A8H |HEmMH(E—) IFLCA GRIRE1EH) 5179 10.13 0.06 0.03 B270
9A8H |EXEAZE BEEN R b1:304 10.07 0.11 0.03 B270
9A8H|EHRMAE IR ARIR 11.43 0.08 0.04 B270
9A9H | BEEHM BRI R 10.12 0.07 0.04 B270 9A9H B270 0.05
9R9B|NAOT (FIR) IELCA IR 10.10 0.08 0.02 B270
9R98 |y BaHHE BARIK BEIK 8.96 0.06 0.03 B270
9A9H |ER™ SEIR MK 8.43 0.07 0.02 B270
9R9A |E#MHE IR R 10.19 0.08 0.05 B270
9A 128 [SLvf=F I (K EiE 474 IR 11.97 0.05 0.02 B270 9/ 12H B270 0.05
9A 128 (IO (FiR) IEWCA IR 10.17 0.07 0.02 B270
9128 |y BHEE RBER BEIKR 9.31 0.05 0.03 B270
9A 128 Sy BHEE BRIK BEIK 8.92 0.06 0.02 B270
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9A 128 Sy BHEE BARIK BEIK 8.1 0.05 0.03 B270
9128 |[/\#™H IELCA IR 6.36 0.06 0.03 B270
9A 128 |4 AT Bk & R 12.06 0.10 0.03 B270
9A12A | EEE MW BEHN IR ARIR 10.07 0.13 0.03 B270
9R 128 |HEE4 BEEN R b1:304 10.03 0.14 0.03 B270
9/ 128 [2<IETH BAIK BER 10.03 0.07 0.02 B270
9A13H|IFBMEE AL TR R IR 9.52 0.05 0.03 B280 9A13H B280 0.05
9138 |EEH™ BRLARIK IR 9.90 0.06 0.04 B280
913 |&AT™ KER IR 8.21 0.08 0.02 B280
9A 138 |[EHRMEE IR MK 11.74 0.08 0.05 B280
9R 148 |HIITh BEHERE IR 9.59 0.04 0.03 B280 9A14H B280 0.05
9R 148 I BEARE IR 9.82 0.06 0.03 B280
9A 148 Sy BHE BARIK BEIK 9.21 0.06 0.03 B280
9A14B (AT (ED) BEANIR (E 1L R R) IR 9.80 0.06 0.04 B280
9A 148 (#ATH(E—) IFWCA GRIREE) R 9.75 0.05 0.03 B280
9R 148 |l BT (R =RE) BEIKR BEIR 7.84 0.04 0.02 B280
9148 [o<IETh BARIK BEIK 10.09 0.07 0.02 B280
9/ 148 [2<IEH BEIK BER 9.94 0.05 0.02 B280
9148 [o<IET BRIK BEIK 9.98 0.06 0.02 B280
9A15E (JIIOTM (Fix) IELCA IR 10.18 0.06 0.02 B280 9A15H8 B280 0.05
9A 158 (NIOT (FiR) IEWCA IR 10.15 0.05 0.02 B280
9A 158 |#yBHEE BER BEIR 8.73 0.05 0.02 B280
9A 158 (#AThH(ED) WEEN R (E L e FR) R 9.92 0.08 0.05 B280
9RA 158 [+ AT EiE 474 579 11.32 0.09 0.03 B280
9R 158 |HE 4 BEEN R b1:304 10.22 0.15 0.03 B280
9A 158 [EHREE IR MK 11.15 0.08 0.04 B280
9A 168 |[BEHN BRI IR 10.2 0.07 0.04 L230 9A16H L230 0.06
9A16B JIIOTM (Fix) IELCA IR 10.1 0.07 0.02 L230
9RA16B (IO (RAA) EMEIEWLCA IR 10.4 0.04 0.02 L230
9A16B8|NIIOT (EAR) EMEIELCA e 104 0.05 0.03 L230
9A168 [(#ATH(ED) WEEN R (E L FeFR) R 10.0 0.08 0.05 L230
9A16H fEmHEE EiE 474 IR 9.7 0.03 0.03 L230
9A16H [2<IEm BARIK BEIK 10.0 0.07 0.02 L230
9/ 168 [2<IETH BAIK BER 10.0 0.06 0.02 L230
9A208 [[IFBMEE AL TR R IR 9.6 0.05 0.03 L230 98208 L230 0.06
9A20H [(HATH(ED) BEANIR (E1E R R) IR 9.7 0.06 0.05 L230
9208 |/\HTH IEWCA IR 8.9 0.07 0.04 1230
9A 208 [2<IETH BEIK BER 10.0 0.07 0.02 L230
9A218 |BEHN BRI IR 10.2 0.07 0.04 €230 9A21H €230 0.05
9218 (NO (EAR) EMEIELCA e 104 0.06 0.03 C230
9A218 (IO (8AA) EMEIELCA IR 10.5 0.05 0.02 €230
9A218 (Hah(E—) IFLCA GRIRE1EH) MK 9.9 0.06 0.03 C230
9A218|EE4 BEEN R 11304 10.1 0.08 0.03 C230
9A218|EHREE IR MK 118 0.07 0.04 €230
9A 218 [2<IEmH BRIK BEIK 10.0 0.06 0.02 €230
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9A 228 |#yBHHE BEIK BEIR 8.8 0.05 0.03 C230 9A22H €230 0.06
9A228 |#HyBHEE BER BEIR 9.8 0.06 0.03 €230

9A 228 (#ATH(ED) WEEN R (E L FeFR) R 9.7 0.08 0.04 €230

9A228 [ AT EiE 474 579 118 0.09 0.03 €230

9A228 |B#HHEE 1474 b1:304 11.6 0.08 0.04 €230

9A268 [{IFFMEE PUEESHI0Y IR 9.6 0.05 0.03 C240 9H26H C240 0.05
9A268 |t BEHEEE IR 10.1 0.04 0.03 C240

9A 268 I BEARE IR 9.7 0.04 0.03 C240

9268 |t BEHEEE IR 9.9 0.06 0.03 C240

9A 268 Il BEARE IR 9.9 0.05 0.03 C240

9A268 [BEHN BRI R 10.0 0.06 0.03 C240

9A26H |#yBHEE RBER BEIR 8.5 0.05 0.02 C240

9A26H |y BHE BARIK BEIK 9.8 0.06 0.03 C240

9A26H [HAhH(ED) BEANIR (E 1L R R) IR 10.0 0.07 0.05 C240

9A 268 [#aTH(E—) IFWCA GRIREE) R 11.9 0.05 0.03 C240

9A278 (IO (EAR) EMEIELCA e 10.3 0.06 0.02 L240 9278 L240 0.06
9A278 |y BHEE BARIK BEIK 85 0.05 0.03 L240

9R278 )\ IELCA IR 7.8 0.07 0.03 L240

9A278|&AT™ KER IR 8.1 0.09 0.02 L240

9A278 [E#HMEE IR 579 11.0 0.08 0.04 L240

9R 278 [2KIETH BARIK BEIK 10.0 0.07 0.02 L240

9/ 278 [2<IEH BAIK BER 10.0 0.06 0.02 L240

9R 288 I BEHETEE IR 9.8 0.06 0.03 L240 9H28H L240 0.04
9A28H I BEARE IR 9.7 0.04 0.03 L240

9A28H (IO (§AA) EMEIELCA IR 10.3 0.06 0.02 L240

9A28H |#yAHEE BER BEIR 9.2 0.06 0.03 L240

9A28H (#ATH(ED) WEEN R (E 1L FeFR) R 10.8 0.08 0.04 L240

9F28H |H¥E4H BEEN R 511904 10.1 0.17 0.03 L240

9A 288 |RLiBH (=) BARIK BEIK 7.9 0.06 0.02 L240

9A 298 |EEH™ BRLARIK IR 10.2 0.07 0.04 €250 9A29H C250 0.05
9A298 (JIIOT (RAA) EMEIEWLCA IR 10.2 0.06 0.02 €250

9A29H |#yBHEE RBER BEIR 9.1 0.06 0.02 €250

9A29R |E#HEE 1474 b1:304 11.0 0.08 0.04 C250

9A 298 [2<IETH BAIK BER 10.0 0.07 0.02 C250

9A 298 [o<IETh BRIK BEIK 10.0 0.05 0.02 C250

9A29H [2<IETH BAIK BER 10.0 0.07 0.02 C250

9A 308 [TIITh BEHEEE IR 10.0 0.05 0.03 C250 9A30H C250 0.05
9A30R |EEH™ BRLARIK IR 10.1 0.07 0.04 €250

9A30A (IO (EA) EMEIELCA IR 10.6 0.06 0.02 €250

9A30B|NIOT(EAR) EMEIELCA e 104 0.06 0.02 C250

9A30H Sy BHE BRIK BEIK 8.7 0.06 0.02 C250

9A30H [+ AT Bk IR 579 10.0 0.09 0.03 €250

9A30R|EAT™ KER IR 75 0.09 0.02 C250

9A30H [EEE IR MK 115 0.07 0.04 €250
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9H1E 005 004 004 005 005 005 131I 1340S 1370S CSE.I. 1311 134CS 137CS CSE.I. 131I 1340S 1370S CSE.I. 131I 1340S 1370S CSE.I.
9H2H 0.05 0.04 0.04 0.04 0.04 0.04 9828 | ND|ND|[34 |34 | |98B28 | ND|ND|ND|ND[9H28B | ND|ND|ND| ND|ND| ND| ND| ND
9A5H 0.05 0.04 0.03 0.04 0.05 0.04 11110 [13 | — 7.7 |110|130| — 0709 |13 | — 10|09 |11 ]| —
9H6H 0.05 0.04 0.04 0.05 0.05 0.05 9868 | ND| ND |37 |37
9A7H 0.04 0.04 0.04 0.05 0.05 0.05 11116 [12 | —
9A8H 0.05 0.04 0.04 0.04 0.05 0.05 98148 | ND | ND | 40 | 40
9H9H 0.05 0.04 0.03 0.04 0.04 0.04 14 |14 [16 | —
98128 0.05 0.04 0.04 0.04 0.04 0.05 98208 | ND | ND | 38 | 358
98138 0.05 0.03 0.03 0.04 0.04 0.04 13116 [19 | —
9A14H 0.04 0.04 0.04 0.05 0.05 0.04 98268 | ND | ND | 3.1 | 31
98158 0.05 0.04 0.04 0.05 0.05 0.05 12 |19 [18 | —
98168 0.05 0.04 0.03 0.04 0.05 0.04 XBIESERE  [RANE/BZH.
98208 0.05 0.04 0.04 0.04 0.05 0.05 ¥BETHHEVE. BIXER
98218 0.05 0.04 0.04 0.05 0.05 0.05
98228 0.05 0.03 0.03 0.04 0.04 0.04
9A26H 0.05 0.04 0.04 0.04 0.05 0.05 0555 Bt O [Ba/L]
9A278| 005 0.04 0.04 0.05 0.05 0.05 FmE | TR RETRIE
9H28H 0.05 0.03 0.03 0.04 0.04 0.04 131 |13464113706[ CsEt
98298 0.05 0.04 0.03 0.05 0.05 0.05 9H28| ND | ND | ND | ND
9A30H 0.05 0.04 0.03 0.04 0.05 0.05 12 |09 [15 | -
MR GTEH R TIER R




